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MASTER OF ARTS (Economics) 
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0) 
0) 	 June, 2013 
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MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as directed. 

SECTION-A 

Attempt any two questions from this section. 

(Answer in about 500 words each) 
	

2x20=40 

1. Attempt to define public economics. Which kind 

of public intervention is not still considered a part 

of public economics and why ? 

2. What do you understand by excess burden or 

efficiency loss ? Using demand curves with 

different price elasticities show the excess burden 

would be different. 

3. Explain the stages and various coordination 

mechanism involved in policy processes. Discuss 

various factors that influence the agenda setting 

in policy processes. 
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4. 	Critically explain the vertical Federal Fiscal 

Imbalance and Horizontal Federal Fiscal 

Imbalance. Explain the important reasons for the 

emergence of Horizontal Federal Fiscal Imbalance. 
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SECTION-B 

Attempt any five questions from this section. 

(Answer in about 300 words each) 	5x12=60 

	

5. 	Explain any two of the following : 

(a) Lindhal pricing 

(b) Pareto efficient tax structure 

(c) Prisoner's Dilema 

	

6. 	What are the objectives and meaning of public 

debt management ? Write two principles of public 

debt management as stated by Philip E. Taylor. 

	

7. 	Differentiate between any three of the following : 

(a) Inflation and deflation 

(b) Kaldor's Compensation criteria and Hicks' 

compensation criteria 

(c) Theory of first best analysis and theory of 

second best analysis 

(d) Sales tax and value added tax 

	

8. 	Define social welfare function. Compare 

Bentham's, Samuelson's and Rawls' functions. 

	

9. 	Do you think that privatisation can always 

decentralise economic power ? Critically 

examine. 
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10. Explain how weber has defined a rational 
bureaucrat. 

11. Do you think that public policy in a democratic 

country is based on public choice ? Explain. 

12. Why did classical economists oppose and modern 

economists favour public debt ? 
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